Ho! Ho! Ho!

Work out the answers to the questions. Each number is linked to a letter. Use these letters to
reveal the punch line of the Christmas jokes. The answers have more than one word, can you
figure out where the spaces go? Remember to read the answers from top to bottom.

A B C D E F G H I J K L M
1 2 3 4 5 6 7 8 9 10 11 12 13

N ) P Q R S T u \Y W X Y VA
14 15 16 17 18 19 20 21 22 23 24 25 26

1. What do elves learn at school?

100-95= _____ 300 - 299 = 120 - 100 =

212 - 200 = 202-200 =

NP
110 - 104 = 200 - 195 = ; SR Ox
— — 233

2. What does Jack Frost eat for breakfast?

112 - 106 = 219 - 200 = 305 - 300 =
90 - 72 = 240 - 220 = 120 - 101 =
130 - 115 = 118 - 109 =

3. What is the wettest animal at Christmas?

218 - 200 = 414 - 400 = 105 - 100 =

405 - 404 = Lty — 440 = 128 - 110 =

109 - 100 = 115-110 =

4, What do monkeys sing at Christmas?

410 - 400 = 224 - 212 = 312 - 300 =
221-200= 555-550=__ 612 -600=___
114-100= 222-220=_ 119 -100=
310 - 303 = 105 - 100 =
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1. What does Jack Frost want for Christmas?

212 - 211 = 321 - 316 = 412 - 407 =
210 - 204 = 773 - 768 = 114 - 96 =
210 - 192 = 130 - 104 = 3%

2. What's brown and hides in the kitchen at Christmas?

145-132= 719-714= 111-106=
225-216= 819-800= 612 - 593 =

911-897= 550-534= |
202 - 199 = bty — 435 = B |

3. What is a cow'’s favourite party game at Christmas?

900 - 887 = 701 - 698 = 178 - 165 =
405 - 390 = 310 - 309 = 300 - 284 =
122 - 107 = 752 - 740 = 552 - 533 =
525 - 506 = 336 - 334 =

- - o
888 - 879 = 210 - 189 =

4. What do you call a snowman who tells tales?

900 - 899 = 125 - 110 = 771 -770 =
134 - 115 = 670 - 647 = 310 - 299 =
457 - 443 = 566 - 560 = 333 -328 =
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Work out the answers to the questions. Each number is linked to a letter. Use these letters to
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1. Why did the turkey join the band?

525-523= 141-136 = 516 -497=
672-667= 919-911= 109-89= i
781-778 = 712 -711= 898 -889=
610-609 = 401-397=_ 872-869=
113-92= 301-297=_ 320-318=
891-872=_ 116-98= 338-319=_
565-560= 617-596 = v
666 - 658 = 816 - 803 =

2. Why couldn't the skeleton go to the Christmas party?

510-502= 700 - 698 = 612 -597 =
113-108=__ 300-285=__ 320-297=_
545-537=__ 915-911=__ 151 - 142 =
890-889 = 440 - 415 = 781-761=__
872-868=_ 129-109 = 817 - 809
110-96= 899 - 884 =

822 - 807 = 114 - 107 =
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reveal the punch line of the Christmas jokes. The answers have more than one word, can you
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1. What athlete is the warmest in winter?

1000 - 999 = 145-138 = 129-113-_ &
304-292= 131-121=____ 569 - 564 = .
617 -602 = 964 - 943 = 898 -880=
911 - 897 = 882 - 869 =

2. What did the stamp say to the Christmas card?

709-690 = 173 - 168 = 711-704=____
329-309=__ 671-670=_____ 627-612=_____

708 - 699 = 221-207=_____ 188 -172=_____
141-138=_____ 632- 628 =_____ 108-96= ____
913-902=_____ 519 - 496 = 619-618=__
251-228=_____ 228-223=_____ 401-398=__
781-772=__ 818-795=__ 202-197=__ o3
222-202= 322-313=_ 921 - 902 =

262-254= 510-498 =

448 - 435 = 999 - 987 =
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Ho! Ho! Ho! Answers

What do elves learn at school? Elfabet!

What does Jack Frost eat for breakfast? Frosties!
What is the wettest animal at Christmas? Raindeer!
What do monkeys sing at Christmas? Jungle Bells!

* %
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What does Jack Frost want for Christmas? A freezer!

What's brown and hides in the kitchen at Christmas? Mince spies!
What is a cow’s favourite party game at Christmas? Moosical bumps!
What do you call a snowman who tells tales? A snow fake!

* &k &

Why did the turkey join the band? Because he had drumsticks!
Why couldn'’t the skeleton go to the Christmas party? He had no body to go with!

What athlete is the warmest in winter? A long jumper!
What did the stamp say to the Christmas card? Stick with me and we will go places!
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